

Maisonette in St Julian's



St Julian's, Sliema and St Julians Surroundings



€660,000

Reference No: 240291010-1363

 Total Rooms: **6**

 Floor Area (m²) : **154**

 Bathrooms: **2**

 Bedrooms: **2**

Maisonette - For Sale - St Julian's

ST JULIAN'S- A Brand new Development comprising of a small residential block consisting of a total of 5 units, with 1 Maisonette, apartments and a penthouse. All units are to be finished including internal doors and bathrooms. Freehold. For further information or to arrange a viewing, contact a RE/MAX agent.

Features

- ✓ En Suite
- ✓ PVC Piping
- ✓ Skirting
- ✓ Yard
- ✓ Electricity Utility
- ✓ A/C
- ✓ Double Glazed

Rooms

- ✓ Kitchen/Living/Dining : 8.51 x 4.78 m (40.68 m²)
- ✓ Double Bedroom : 4.84 x 2.76 m (13.36 m²)
- ✓ Bathroom Ensuite : 2 x 1.97 m (3.94 m²)
- ✓ Box Room : 1.8 x 1.13 m (2.03 m²)
- ✓ Bathroom : 1.94 x 2.57 m (4.99 m²)
- ✓ Double Bedroom : 4.96 x 3.81 m (18.9 m²)
- ✓ Open Space : 3.33 x 2.65 m (8.82 m²)
- ✓ Open Space : 4.84 x 6 m (29.04 m²)

Gallery





Andrew Gauci

RE/MAX North - Qawra

M: 79871787

E: andrewgauci@remax.com.mt

T: 21585844

RE/MAX North - Qawra

Dawret il-Gzejjer, Qawra, St Paul's Bay, Malta